

Provided for non-commercial research and educational use.
Not for reproduction, distribution or commercial use.

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

Complete Lifts of Derivations of Special Types to the Tensor Bundle

Nejmi Cengiz and A. A. Salmov

Presented by Bl. Sendov

The main purpose of this paper is to study the complete lifts of derivations of special types, that is, those of Lie derivations, covariant differentiations and derivations determined by a tensor field of type (1,1).

AMS Subj. Classification: 53A55, 53A05, 53C07, 57R25

Key Words: lift, derivation, vector field, tensor bundle

1. Introduction

Let M_n be an n -dimensional manifold of class C^∞ . Consider the tensor bundle $T_q^p(M_n) = \bigcup_{p \in M_n} T_q^p(P)$ and denote the natural projection $T_q^p(M_n) \rightarrow M_n$ by π . Let $x^j, j = 1, \dots, n$ be local coordinates in a neighborhood U of a point p of M_n . Then a tensor t of type (p, q) at $p \in M_n$ which is an element of $T_q^p(M_n)$ is expressible in the form $(x^j, t_{j_1 \dots j_q}^{i_1 \dots i_p}) = (x^j, x^{\bar{j}}), x^{\bar{j}} = t_{j_1 \dots j_q}^{i_1 \dots i_p}, \bar{j} = n+1, \dots, n+n^{p+q}$, whose $t_{j_1 \dots j_q}^{i_1 \dots i_p}$ are components of t with respect to the natural frame ∂_j . We may consider $(x^j, x^{\bar{j}})$ as local coordinates in a neighborhood $\pi^{-1}(u)$ of $T_q^p(M_n)$.

To a transformation of local coordinates of $M_n : x^{j'} = x^{j'}(x^j)$, there corresponds in $T_q^p(M_n)$ the coordinates transformation

$$(1) \quad \begin{cases} x^{j'} = x^{j'}(x^j), \\ x^{j'} = t_{j_1 \dots j_q}^{i_1 \dots i_p} = A_{i_1}^{i_1'} \dots A_{i_p}^{i_p'} A_{j_1}^{j_1} \dots A_{j_q}^{j_q} t_{j_1 \dots j_q}^{i_1 \dots i_p} = A_{(i)}^{(i')} A_{(j')}^{(j)} x^{\bar{j}}, \end{cases}$$

where

$$A_{(i)}^{(i')} A_{(j')}^{(j)} = A_{i_1}^{i_1'} \dots A_{i_p}^{i_p'} A_{j_1}^{j_1} \dots A_{j_q}^{j_q}, A_i^{i'} = \frac{\partial x^{i'}}{\partial x^i}, A_{j'}^{j} = \frac{\partial x^j}{\partial x^{j'}}.$$

The Jacobian of (1) is given by the matrix

$$(2) \quad \begin{pmatrix} \frac{\partial x^{J'}}{\partial x^J} \\ \frac{\partial x^J}{\partial x^J} \end{pmatrix} = \begin{pmatrix} \frac{\partial x^{J'}}{\partial x^J} & \frac{\partial x^{J'}}{\partial x^{\bar{J}}} \\ \frac{\partial x^{J'}}{\partial x^J} & \frac{\partial x^{J'}}{\partial x^{\bar{J}}} \end{pmatrix} = \begin{pmatrix} A_j^{j'} & 0 \\ t_{(k)}^{(i)} \partial_j (A_{(i)}^{(j')} A_{(j')}^{(k)}) & A_{(i)}^{(i')} A_{(j')}^{(j)} \end{pmatrix},$$

where $J = (j, \bar{j})$, $J = 1, \dots, n + n^{p+q}$, $t_{(k)}^{(i)} = t_{k_1 \dots k_q}^{i_1 \dots i_p}$.

We denote by $\mathfrak{S}_p^q(M_n)$ the module over $F(M_n)$ of C^∞ tensor fields of type (p, q) ($F(M_n)$ is ring of real-valued C^∞ functions on M_n).

If $\alpha \in \mathfrak{S}_p^q(M_n)$, it is regarded, in a natural way, by contraction, as a function in $T_q^p(M_n)$, which we denote by $\iota\alpha$. If α has the local expression $\alpha = \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} \partial_{j_1} \otimes \dots \otimes \partial_{j_q} \otimes dx^{i_1} \otimes \dots \otimes dx^{i_p}$ in a coordinate neighborhood $U(x^i) \subset M_n$, then $\iota\alpha$ has the local expression

$$\iota\alpha = \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} t_{j_1 \dots j_q}^{i_1 \dots i_p}$$

with respect to the coordinates $(x^i, x^{\bar{i}})$ in $\pi^{-1}(U)$.

We first prove a lemma which will be of use later.

Lemma 1. *Let \tilde{X} and \tilde{Y} be vector fields in $T_q^p(M_n)$ such that $\tilde{X}(\iota\alpha) = \tilde{Y}(\iota\alpha)$, for any $\alpha \in \mathfrak{S}_p^q(M_n)$. Then, $\tilde{X} = \tilde{Y}$, i.e. $\tilde{X} \in \mathfrak{S}_0^1(T_q^p(M_n))$ is completely determined by its action on functions of type $\iota\alpha$.*

Proof. It is sufficient to show that if $\tilde{Z}(\iota\alpha) = (\tilde{X} - \tilde{Y})(\iota\alpha) = 0$, then \tilde{Z} is zero. If \tilde{Z} has components \tilde{Z}^J with respect to the coordinates $(x^j, x^{\bar{j}})$ in $\pi^{-1}(U)$, then we have

$$(3) \quad \begin{aligned} \tilde{Z}(\iota\alpha) &= \tilde{Z}^j \partial_j (\alpha_{i_1 \dots i_p}^{j_1 \dots j_q} t_{j_1 \dots j_q}^{i_1 \dots i_p}) + \tilde{Z}^{\bar{j}} \partial_{\bar{j}} (\alpha_{i_1 \dots i_p}^{j_1 \dots j_q} t_{j_1 \dots j_q}^{i_1 \dots i_p}) \\ &= \tilde{Z}^j t_{j_1 \dots j_q}^{i_1 \dots i_p} \partial_j \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} + \tilde{Z}^{\bar{j}} \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} = 0. \end{aligned}$$

If this holds for any $\iota\alpha \in \mathfrak{S}_p^q(M_n)$, $\partial_j \alpha_{i_1 \dots i_p}^{j_1 \dots j_q}$ taking any preassigned values at a fixed point, from (3) (homogeneous system of linear equations), we have

$$(4) \quad \tilde{Z}^j t_{j_1 \dots j_q}^{i_1 \dots i_p} = 0, \quad \tilde{Z}^{\bar{j}} = 0.$$

From the first equation of (4), it follows that $\tilde{Z}^j = 0$ at all points of $T_q^p(M_n)$ except possibly those at which all the components $t_{j_1 \dots j_q}^{i_1 \dots i_p}$ are zero: that is, at points of the base space. However the components of \tilde{Z} are continuous and so \tilde{Z}^j is also zero at points of the base space.

Thus $\tilde{Z}^j = 0$ at all points of $\pi^{-1}(U)$. Therefore, taking account of the second equation of (4), we see that \tilde{Z} is zero in $\pi^{-1}(U)$ and so $\tilde{Z} = 0$ in $T_q^p(M_n)$. Thus Lemma 1 is proved. ■

2. Vertical lifts of tensor fields and γ -operator

Let $A \in \mathfrak{S}_q^p(M_n)$. Then there is a unique (see Lemma 1) vector field ${}^V A \in \mathfrak{S}_0^1(T_q^p(M_n))$ such that for $\alpha \in \mathfrak{S}_p^q(M_n)$,

$$(5) \quad {}^V A(\iota\alpha) = \alpha(A) \circ \pi = {}^V(\alpha(A)),$$

where ${}^V(\alpha(A))$ is the vertical lift of the function $\alpha(A) \in F(M_n)$. We note that, the vertical lift ${}^V f = f \circ \pi$ of the arbitrary function $f \in F(M_n)$ is constant along each fibre $\pi^{-1}(p) = T_q^p(p)$. We call ${}^V A$ the vertical lift of $A \in \mathfrak{S}_q^p(M_n)$ to $T_q^p(M_n)$ (see [1]).

If ${}^V A = {}^V A^k \partial_k + {}^V A^{\bar{k}} \partial_{\bar{k}}$, $x^{\bar{k}} = t_{k_1 \dots k_q}^{l_1 \dots l_p}$, then we have from (5)

$${}^V A^k t_{j_1 \dots j_q}^{i_1 \dots i_p} \partial_k \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} + {}^V A^{\bar{k}} \alpha_{l_1 \dots l_p}^{k_1 \dots k_q} = \alpha_{l_1 \dots l_p}^{k_1 \dots k_q} A_{k_1 \dots k_q}^{l_1 \dots l_p}.$$

Using the argument similar to that used in the proof of Lemma 1, we see that the vertical lift ${}^V A$ has components of the form

$$(6) \quad {}^V A = \begin{pmatrix} {}^V A^j \\ {}^V A^{\bar{j}} \end{pmatrix} = \begin{pmatrix} 0 \\ A_{j_1 \dots j_q}^{i_1 \dots i_p} \end{pmatrix}$$

with respect to the coordinates $(x^j, x^{\bar{j}})$ in $T_q^p(M_n)$.

Let $\varphi \in \mathfrak{S}_1^1(M_n)$ and $\xi \in \mathfrak{S}_q^p(M_n)$:

$$\varphi = \varphi_j^i \frac{\partial}{\partial x^i} \otimes dx^j,$$

$$\xi = \xi_{j_1 \dots j_q}^{i_1 \dots i_p} \frac{\partial}{\partial x^{i_1}} \otimes \dots \otimes \frac{\partial}{\partial x^{i_p}} \otimes dx^{j_1} \otimes \dots \otimes dx^{j_q}.$$

We define a vector field $\gamma_\xi \varphi$ in $\pi^{-1}(U) \subset T_q^p(M_n)$ by

$$(7) \quad \left. \begin{aligned} \gamma_\xi \varphi &= \left(\sum_{\lambda=1}^p \xi_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \varphi_m^{i_\lambda} \right) \frac{\partial}{\partial x^{\bar{j}}}, \quad (p \geq 1, q \geq 0), \\ \gamma_\xi \varphi &= \left(\sum_{\mu=1}^q \xi_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \varphi_{j_\mu}^m \right) \frac{\partial}{\partial x^{\bar{j}}}, \quad (p \geq 0, q \geq 1), \end{aligned} \right\}$$

and a vector field $\gamma\varphi$ in $\pi^{-1}(U)$ by

$$(8) \quad \left. \begin{aligned} \gamma\varphi &= \left(\sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \varphi_m^{i_\lambda} \right) \frac{\partial}{\partial x^j}, \quad (p \geq 1, q \geq 0), \\ \gamma\varphi &= \left(\sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \varphi_{j_\mu}^m \right) \frac{\partial}{\partial x^j}, \quad (p \geq 0, q \geq 1), \end{aligned} \right\}$$

with respect to the coordinates $(x^j, x^{\bar{j}})$ in $T_q^p(M_n)$. From (2) we easily see that the vector fields $\gamma_\xi\varphi$, $\tilde{\gamma}_\xi\varphi$ and $\gamma\varphi$, $\tilde{\gamma}\varphi$ defined in each $\pi^{-1}(U)$ determine respectively global vector fields in $T_q^p(M_n)$.

From (6) and (7), we have

$$\gamma_\xi\varphi =^V (\varphi_\xi) \quad (\tilde{\gamma}_\xi\varphi =^V (\tilde{\varphi}_\xi)),$$

where $\varphi_\xi \in \mathfrak{S}_q^p(M_n)$ ($\tilde{\varphi}_\xi \in \mathfrak{S}_q^p(M_n)$) and

$$\begin{aligned} \varphi_\xi &= \left(\sum_{\mu=1}^q \xi_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \varphi_m^{i_\lambda} \right) \frac{\partial}{\partial x^{i_1}} \otimes \dots \otimes \frac{\partial}{\partial x^{i_p}} \otimes dx^{j_1} \otimes \dots \otimes dx^{j_q} \\ \tilde{\varphi}_\xi &= \left(\sum_{\mu=1}^q \xi_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \varphi_{j_\mu}^m \right) \frac{\partial}{\partial x^{i_1}} \otimes \dots \otimes \frac{\partial}{\partial x^{i_p}} \otimes dx^{j_1} \otimes \dots \otimes dx^{j_q} \end{aligned}$$

are respectively, local expressions of φ_ξ and $\tilde{\varphi}_\xi$, with respect to the coordinates x^j in $U \subset M_n$.

From (7) and (8), we see that, $\gamma_\xi\varphi$, $\tilde{\gamma}_\xi\varphi$ and $\gamma\varphi$, $\tilde{\gamma}\varphi$ have respectively components

$$(9) \quad \gamma_\xi\varphi = \begin{pmatrix} 0 \\ \sum_{\lambda=1}^p \xi_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \varphi_m^{i_\lambda} \end{pmatrix},$$

$$(10) \quad \tilde{\gamma}_\xi\varphi = \begin{pmatrix} 0 \\ \sum_{\mu=1}^q \xi_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \varphi_{j_\mu}^m \end{pmatrix},$$

$$(11) \quad \gamma\varphi = \begin{pmatrix} 0 \\ \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \varphi_m^{i_\lambda} \end{pmatrix},$$

$$(12) \quad \gamma \varphi = \left(\begin{array}{c} 0 \\ \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \varphi_{j_\mu}^{i_\mu} \end{array} \right)$$

with respect to the coordinates $(x^j, x^{\bar{j}})$ in $\pi^{-1}(U) \subset T_q^p(M_n)$.

3. Complete lifts of derivations and γ -operator

We now put $\mathfrak{S}(M_n) = \sum_{p,q=0}^{\infty} \mathfrak{S}_q^p(M_n)$, which is the direct sum of all tensor modules in M_n . A map $D : \mathfrak{S}(M_n) \rightarrow \mathfrak{S}(M_n)$ is a derivation in M_n , if, [1]:

- a) D is linear with respect to constant coefficients,
- b) for all p, q , $D\mathfrak{S}_q^p(M_n) \subset \mathfrak{S}_q^p(M_n)$,
- c) for all tensor fields T_1 and T_2 in M_n ,

$$D(T_1 \otimes T_2) = (DT_1) \otimes T_2 + T_1 \otimes (DT_2),$$

- d) D commutes with contraction.

From the definition of the tensor derivation, we have

$$(13) \quad DI = 0,$$

where $I = (\delta_j^i)$ denotes the identity tensor field of type (1,1) in M_n .

For a derivation D in M_n , there exists a vector field p in M_n such that

$$(14) \quad pf = Df, \quad f \in F(M_n).$$

If we put

$$(15) \quad D(\partial_i) = Q_i^h \partial_h$$

in each coordinate neighborhood U of M_n , then from (13) and $(dx^i)(\partial_j) = \delta_j^i$. We have in U

$$(16) \quad D(dx^h) = -Q_i^h dx^i.$$

Let α be an element of $\mathfrak{S}_p^q(M_n)$ with local expression $\alpha = \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} \partial_{j_1} \otimes \dots \otimes \partial_{j_q} \otimes dx^{i_1} \otimes \dots \otimes dx^{i_p}$. Then, from (15) and (16) we see that $D\alpha$ have components of the form

$$(17) \quad D\alpha : (p^m \partial_m \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} + \sum_{\mu=1}^q \alpha_{i_1 \dots i_p}^{j_1 \dots m \dots j_q} Q_m^{j_\mu} - \sum_{\lambda=1}^p \alpha_{i_1 \dots m \dots i_p}^{j_1 \dots j_q} Q_{i_\lambda}^m)$$

in M_n , p^h being the components of $p \in \mathfrak{S}_0^1(M_n)$ given by (14). The pair (p^h, Q_i^h) is called the components of the derivation D in U , [2, p.26].

Let D be a derivation in M_n . Then there is a unique (see Lemma 1) vector field ${}^C D \in \mathfrak{S}_0^1(T_q^p(M_n))$ such that for $\alpha \in \mathfrak{S}_p^q(M_n)$, [1],

$$(18) \quad {}^C D(\iota\alpha) = \iota(D\alpha).$$

We call ${}^C D$ the complete lift of D to $T_q^p(M_n)$.

From (17) and (18), we have

$$\begin{aligned} & {}^C D^j \partial_j \left(t_{j_1 \dots j_q}^{i_1 \dots i_p} \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} \right) + {}^C D^{\bar{j}} \partial_{\bar{j}} \left(t_{j_1 \dots j_q}^{i_1 \dots i_p} \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} \right) \\ &= t_{j_1 \dots j_q}^{i_1 \dots i_p} (p^m \partial_m \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} + \sum_{\mu=1}^q \alpha_{i_1 \dots i_p}^{j_1 \dots m \dots j_q} Q_{j_\mu}^m - \sum_{\lambda=1}^p \alpha_{i_1 \dots m \dots i_p}^{j_1 \dots j_q} Q_{i_\lambda}^m), \end{aligned}$$

or

$$\begin{aligned} (19) \quad & {}^C D^j (\partial_j \alpha_{i_1 \dots i_p}^{j_1 \dots j_q}) t_{j_1 \dots j_q}^{i_1 \dots i_p} + {}^C D^{\bar{j}} \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} \\ &= t_{j_1 \dots j_q}^{i_1 \dots i_p} p^m \partial_m \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} + \alpha_{i_1 \dots i_p}^{j_1 \dots j_q} \left(\sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} Q_{j_\mu}^m - \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} Q_{i_\lambda}^m \right). \end{aligned}$$

By the same token as in the proof of Lemma 1, it follows from (19) that, ${}^C D$ has components

$$(20) \quad {}^C D = \left(\begin{array}{c} p^j \\ \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} Q_{j_\mu}^m - \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} Q_{i_\lambda}^m \end{array} \right)$$

with respect to the coordinates $(x^j, x^{\bar{j}})$ in $T_q^p(M_n)$.

When a derivation D in M_n satisfies the condition $Df = 0$ for any $f \in F(M_n)$, D determines an element $\varphi \in \mathfrak{S}_1^1(M_n)$ in such a way that $DX = \varphi X$, $\forall X \in \mathfrak{S}_0^1(M_n)$. In such a case, D is denoted by $D\varphi$ and called the derivation determined by φ . From $D_\varphi f = 0$ and $D_\varphi X = \varphi X$, we easily verify that the $D\varphi$ has local components

$$(21) \quad D_\varphi : (0, \varphi_i^h), p^h = 0, Q_i^h = \varphi_i^h,$$

where φ_i^h are local components of φ in M_n .

From (11), (12), (20) and (21), we have

$${}^C D = \left(\begin{array}{c} 0 \\ \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} Q_{j_\mu}^m - \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} Q_{i_\lambda}^m \end{array} \right) = \tilde{\gamma}\varphi - \gamma\varphi,$$

or

$$(22) \quad {}^C(D\varphi) = \tilde{\gamma}\varphi - \gamma\varphi.$$

Let $t_q^p(M_n)$ be a pure tensor subbundle with respect to $\varphi \in \mathfrak{S}_1^1(M_n)$, [3] (see also [4]), i.e.

$$(23) \quad \varphi_{j_1}^r t_{rj_2 \dots j_q}^{i_1 \dots i_p} = \dots = \varphi_{j_q}^r t_{j_1 \dots j_{q-1}r}^{i_1 \dots i_p} = \varphi_r^{i_1} t_{j_1 \dots j_q}^{r i_2 \dots i_p} = \dots = \varphi_r^{i_p} t_{j_1 \dots j_q}^{i_1 \dots i_{p-1}r} \stackrel{def}{=} (t(\varphi))_{j_1 \dots j_q}^{i_1 \dots i_p}.$$

From (22) and (23), we see that along the pure tensor subbundle ${}^C(D\varphi)$ reduces to

$${}^C(D\varphi) = (q - p)^V(t(\varphi)).$$

4. Complete lifts of Lie derivations

Suppose that $V \in \mathfrak{S}_0^1(M_n)$. We define the complete lift ${}^C V$ of V to $T_q^p(M_n)$ by [5],

$$(24) \quad {}^C V = \begin{pmatrix} {}^C V^j \\ {}^C V^{\bar{j}} \end{pmatrix} = \begin{pmatrix} V^j \\ \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \partial_m V^{i_\lambda} - \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \partial_{j_\mu} V^m \end{pmatrix}.$$

Let L_V denote Lie derivation with aspect to V , i.e. L_V is a tensor derivation such that

$$L_V f = V f, \forall f \in F(M_n),$$

$$L_V W = [V, W], \forall V, W \in \mathfrak{S}_0^1(M_n),$$

where $[V, W]$ is the Lie bracket of V and W . From $[V, W]^h = V^i \partial_i W^h - W^i \partial_i V^h$, we see that the Lie derivation in M_n having components

$$(25) \quad L_V = (V^h, -\partial_i V^h).$$

Using (20), (24) and (25), we have

$${}^C(L_V) = {}^C V.$$

5. Complete lifts of covariant derivations

Let ∇ be an affine connection in M_n and ∇_V denote covariant derivation with respect to V , i.e. ∇_V is a tensor derivation such that

$$\nabla_V f = Vf,$$

$$\nabla_{fV+gW}X = f\nabla_V X + g\nabla_W X, \quad \forall f, g \in F(M_n), \forall V, W, X \in \mathfrak{S}_0^1(M_n).$$

From $(\nabla_V X)^h = V^j \partial_j X^h + V^j \Gamma_{ji}^h X^i$ (Γ_{ji}^h are local components of ∇ in M_n), we see that the covariant derivation ∇_V is a derivation in M_n having components

$$(26) \quad \nabla_V = (V^h, V^j \Gamma_{ji}^h).$$

Using (20) and (26), we can easily verify that ${}^C(\nabla_V)$ have components of the form

$$(27) \quad {}^C(\nabla_V) = \left(\begin{array}{c} V^j \\ - \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots i_p} V^j \Gamma_{jm}^{i\lambda} + \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} V^j \Gamma_{j\mu}^m \end{array} \right).$$

We introduce now an affine connection $\check{\nabla}$ in M_n by

$$(28) \quad \begin{aligned} \check{\nabla}_X Y &= \nabla_X Y - S(X, Y) = \nabla_X Y - (\nabla_X Y - \nabla_Y X - [X, Y]) \\ &= \nabla_Y X + [X, Y], \forall X, Y \in \mathfrak{S}_0^1(M_n), \end{aligned}$$

where $S(X, Y)$ is the torsion tensor of the given affine connection ∇ . We have from (28)

$$(29) \quad \check{\Gamma}_{ji}^h = \Gamma_{ij}^h,$$

where $\check{\Gamma}_{ji}^h$ are components of the new affine connection $\check{\nabla}$.

Now taking account of the formulas (20), (24), (27) and (29), we find

$$\begin{aligned}
 & {}^C V - {}^C(\nabla_V) \\
 &= \left(\begin{array}{c} 0 \\ \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} (\partial_m V^{i_\lambda} + \Gamma_{jm}^{i_\lambda} V^j) - \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} (\partial_{j_\mu} V^m + \Gamma_{j\mu}^m V^j) \end{array} \right) \\
 &= \left(\begin{array}{c} 0 \\ \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} (\partial_m V^{i_\lambda} + \check{\Gamma}_{mj}^{i_\lambda} V^j) - \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} (\partial_{j_\mu} V^m + \check{\Gamma}_{j\mu}^m V^j) \end{array} \right) \\
 &= \left(\begin{array}{c} 0 \\ \sum_{\lambda=1}^p t_{j_1 \dots j_q}^{i_1 \dots m \dots i_p} \check{\nabla}_m V^{i_\lambda} - \sum_{\mu=1}^q t_{j_1 \dots m \dots j_q}^{i_1 \dots i_p} \check{\nabla}_{j_\mu} V^m \end{array} \right) \\
 &= \gamma(\check{\nabla}_V) - \tilde{\gamma}(\check{\nabla}_V).
 \end{aligned}$$

Thus, we have

$$(30) \quad {}^C(\nabla_V) = {}^C V - \gamma(\check{\nabla}_V) + \tilde{\gamma}(\check{\nabla}_V).$$

As a corollary to (30), we have

$${}^C(\nabla_V) = {}^C V = {}^C(L_V),$$

if $\check{\nabla}_V = 0$.

References

[1] A. Ledger, K. Yano, Almost complex structures on tensor bundles, *J. Dif. Geom.*, **1** (1967), 355-368.
 [2] K. Yano, S. Ishihara, *Tangent and Cotangent Bundles*, Marcel Dekker Inc., New York (1973).
 [3] A. A. Salimov, A new method in theory of lifts of tensor fields to a tensor bundle, *Izv. Vuz. Mathematica*, **38** (1994), No 3, 69-75.
 [4] A. A. Salimov, Almost ψ -holomorphic tensors and their properties, *Dokl. Russian Acad. Sci., Math.*, **45** (1992), No 3, 602-605.

- [5] A. A. Salimov, The generalized Yano-Ako operator and complete lift of the tensor fields, *Tensor N.S. (Publ. by the Tensor Soc. Japan)*, **55** (1994), No 2, 142-146.

Atatürk University

Faculty of Arts and Sciences, Dept. of Mathematics

25240 Erzurum

TURKEY

Received: 29.09.2000